JSUNIL TUTORIAL

iy B . i 01

(it}

(iéi)

fiv)

v)

(vi)

fvii}

fveid)

fix)

(x}

w7 g § 1

g0 57T~ F [a#l] N7 7w T I T8 8 |

HITH HET 3 ST F @A G F T gup-g9F W % SR T
fras &1

Y7 H & 4 GG 1 8 3 % I OF-UF o & § | 59 I T T AT
UEFFTH D

msf_a'f_s:;:{_mq &6 & 77 g-g IHt F & 1 T IR T
30 TETHTTE

W&H‘imm?' d 18 & w7d di7-dl oiet & & | 7% IW TP
50 FET G5 E

vmarﬁ:mataw:s 24 & 7 gie-gia sl & § | T I AT
0T A E

Wa%maﬁnzgz&m & 17 TP FHE RS agieed 5T
?;mmwww?:@quﬁwﬁféméﬁawm
FIGE [aFT GIR |

m;émﬁ'@r:ﬂ # 36 & TP FANIHE FIT TT SN gi-cl s &
777 & 1 3 36T qlerd § 57 \

General Instructions :
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3173

The qaesh‘an‘ paper comprises two Sections, A and B. You are to attempt
both the sections.

Al questions are compulsory.

There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be

attempted separately.

Question numbers 1 to 1 in Section A are one-mark questions, These are to
be answered in one word or in one sentence, ;
Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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(viii) Question numbers 19 to 24 in Section A are five-marks questions. These

are to be answered in about 70 words each.
Question numbers 25 to 33 in Section B are multiple choice questions

(ix)

' based on practical skills. Each quesiion is @ one-mark question. You are
to select one most appropriate response oul of the four provided to you.

(x)  Question numbers 34 to 36 in Seetion B are two-marks questions based on
practical skills. These are to be answered in brief.
qoT =7
: SECTION A
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Write the molecular formula of the ond and 8™ member of the
homologous series where the first member is ethyne.

2 ot wivefter 3 o faftmren =i el 2l @ 2
) Why is variation important for a species ?
rd Prfrfias e e i, Wedi Fi 20,000 J e I @ | g9 *f@en ¥ °AFE
= et ool oo BV 2 1
In the following food chain, 20,000 J of energy was available to the
plants. How much energy would be available to man in this chain ?

Plants —> Sheep — > Man

o forr 80 om WiHE g 3 wEEe o @ 15 em g0 W @ R | ¥ gr =
\}/ fifera 3 = atfrernn (S, ff, anfd) i gl F e | 2

An object is placed at a distance of 15 cm from a concave lens ot: focal
7 length 30 cm. List four characteristics (nature, position, etc.) of the image

&0 formed by the lens. 3 _ ,
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&\ You being an enwronmentalmt'are intereste - com
2 vz %\ * conservation of natural resources. List four activities that you can do on

M
your own. ) v
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Why are coal and petroleum categorised as natural resources ? Give a
reason as to why they should be used judiciously.
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Distinguish between esterification and saponification reactions with the
help of the chemical equations for each. State one use of each (i) esters,
and (ii) saponification process.
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Write the structural formula of ethanol. What happens when it is heated
with excess of conc. HyS0, at 443 K ? Write the chemical equation for the
reaction stating the role of cone. H,S0, in this reaction.
9, Wt wrEd aredl & wd § awi & qogE # srafda w2 2 eI wE H
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What is periodicity in properties of elements with reference to the
Modern Periodic Table ? Why do all the elements of the same group have
similar properties 7 How does the tendency of clements to gain electrons

change as we move from left to right in a period ? State the reason of this

change.
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Write the elecironic configuration of two elements X and Y whose atomic
numbers are 20 and 17 respectively. Write the molecular formula of the
compound formed when clement X reacts with clement Y, Draw

electron-dot structure of the product and also state the nature of the bond

formed between both the elements.
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How did Mendel explain that it is possible that a trait is inherited but not

expressed in an organism ?
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What is an erganic evolution ? It cannot be equated with progress

Explain with the help of a suitable example.

S S A W B g T | 3 gt A & areet wafa 1 st fftmand em

13.
% 10 B Iwgel & a1 e SRR 2 3
ist the two types of reproduction. Which one of the two is responmble for
bringing in more variations in its progeny and how ?
14, Wi wad w2 36 Rl 6 <t oy ol & wifl fafee 3

What is vegetative propagation ? State two advantages and two
disadvantages of this method.
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List three techniques that have been developed to prevent pregnancy.
~ Which one of these techniques is not meant for males ? How does the use
of these techniques have a direct impact on the health and prosperity of a

family ?
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“A lens can form a magnified erect image as well as magmﬁed inverted
image of an object placed in front of it.” State the nature of this lens and
draw ray diagrams to justify the above statement. Mark the positions of

0O, I and 2F in the diagram.
) P.T.O.
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What is “dispersion of white light” ? Draw a labelied diagram to illustrate
the recombination of the spectrum of white light. Why is it essential that
the two prisms used for the purpose should be identical and placed in.an
inverted position with respect to each other ?
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Water is an elixir of life, a very important natural resource. Your
Science teacher wants you to prepare a plan for a formative
assessment activity, “How to save water, the vital natural
resource”. Write any two ways that you will suggest to bring
awareness in your neighbourhood, on ‘how to save water’.

Name and explain any one way by which the underground water
table does not go down further.
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With the help of one example for each, distinguish between the acquired
traits and the inherited traits. Why are the traits/experiences acquired

during the entire lifctime of an individual not inherited in the next
gencration ? Fxplain the reason of this fact with an example.
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Write the functions of cach of the following parts in a human
female reproductive system :
(1) COvary
(i)  Uterus
(ifi)  Fallopian tube

(b)  Write the structure and functions of placenta in a human female.
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Why are certain compounds called hydrocarbons ? Write the general
formula for homologous series of alkanes, alkenes and alkynes and also
draw the structure of the first member of each series. Write the name of
the reaction that converts alkenes into alkanes and also write a chemical
equation to show the necessary conditions for the reaction to occur.
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(@) A student suffering from myopia is not able to see distinctly the

Vi objects placed beyond 5 m. List two possible reasons due to which

this defect of vision may have arisen. With the help of ray
diagrams, explain X ’

Analyse the following observation table showing variation of
image-distance (v) with object-distance (1) in case of a conves lens and
answer the questions that follow without deing any caiculations :

(i) why the student is unable to see distinctly the objects placed S.No. Object-Distance | Image-Distance
beyond 5 m from his eyes. ) Wiom) % femn)
B ' 1 - 100 + 25
(1) the type of the corrective lens used to restore proper vision P
: and how this defect is corrected by the use of this lens. [ 2 =60 + 30
. ; 3 - 0
_../é) If, in fhlS case, the numerical value of the focal length of the % 4{? b
COrERsave lens is 5 m, find the power of the lens as per the new e Y * o s
Cartesian sign convention, G 5 - 25 + 100
x 6 -15 +120
23. ﬁmﬁrﬁaaarfmmﬁﬁﬂﬁwﬁvﬁwﬁﬁm,ﬁmﬁmﬁaﬁ@ﬁﬁ @ W Whatds the fieal } f th lens ? Give to justif;
gl () % @ SRk ) g a) #la i3 :r ocal length of the convex lens ? reason to justify
e @ T % T UELE (b)  Write the serial number of the observation which is not correct, On
'_r;;;q l ﬁ;w,q;ﬂ _aﬁ what basis have yo1:l. arrived at this conclusion ? '
T i om () Select an appropriate scale and draw a ray diagram for the
v (cm) observation at S.No.2. Also find the approximate value of
‘ 1 - 100 +25 magnification,
2 - 60
=0 24. (a) R Frelt adwr g 3uE AR R R B forelt o fufa 3 fo wia
3 - 40 +40 & Bier, W IR s wfafra war 8, @ W i A ok fafag
" - 3t o Im i g fog fomwr smit@ ot difae | 3@ wwr & g
30 + 60 b
w1 U Inam fafaw au e s =& R wmn R, sEa sgu
5 -25 + 100 Hfs | : :
6 -15 +120 e gduil ) Sshar B < aitamw faflae | e dieia gdor

®)
/uﬁﬁmm@mﬂﬁq,ﬁHﬁamﬁW+z4cmal 5
)

If the image formed by a mirror for all positions of the object
placed in front of it is always diminished, erect and virtual, state

(a) 371 & H1 rww o qun 2 9 vl 9 F fag e A |
(b) 38 Jgw H) sk FE=N St
erfae St w2 Iwﬁﬁﬁﬁmﬁmﬂlm the type of the mirror and also draw a ray diagram to justify your

ki &2 answer. Write one use such mirrors are put to and why.
(© el oFm & AR FH HEGT 2 F Vo & e froor s ’ )  Define the radius of curvature of spherical mirrors. Find the
wifan | syt = o we ot 30 Hiftrg | ﬁu;;:eni iogzlc;fngth of a spherical mirror whose radius of

e 8 A 9 P.T.O.

Downloade from: http://jsuniltutorial.weebly.com/ Page 4 of 8



31/3

JSUNIL TUTORIAL

qmra
SECTION B

25/ﬁmmmmmmﬁm

>

¥ S 3 s o, i o i frers o 3 R g e

a1 a2 2
(Al y.pz
(B) x,qz
(C) bp,y.z
(D) p,zy
Study the following ray diagram :

In this diagram, the angle of incidence, the angle of emergence and the
angle of deviation respectively have been represented by

(A) y,p=z
(B) x,q,z
(C)y pyz
@ pzy

10

Downloade from:

http://jsuniltutorial.weebly.com/

JSUNIL TUTORIAL

z@wmmwﬁw'{zn%ﬁmm%ﬁmwa&
T § e ety R @y aitfed s & R aw s w
TRF A % o 21aad e (£ v) 3 Fla B (2 o) % wma At @ g
B | g vl R Al e w39 @ fend ferma aifie 2 1
iz Lr=Le
(B) Zi=<e>/r
(C) ZLi<<Lr<Ze
(D) ZLi=Le<Zr
A student very cautiously traces the path of a ray through a glass slab for
different values of the angle of incidence (£ i). He then measures the
corresponding valucs of the angle of refraction (£ 1) and the angle of

emergence (£ ¢) for every value of the angle of incidence. On analysing
ihese measurements of angles, his conclusion would be

() ZLi>sr>Le

Li=Le>Lr
C) Zi<lr<Ze
D Zi=Ze<Zr

27,/ faq ¢ for sritel! 1 v v o frefefgs § A s s gfn . g

«——20 cm

: 25 ecm——
(&) Ik X srwe v @ i afe Y oow w2, R S ol
. 20 cm 3R 25 em § |

B IFE X 3w da @ R ge Y s ol 3, Rt e gt w

10 em 3T 25cm E |
(€) I X sae & 2 3R I Y Iwa ol 3, el wew ghal wa:
. 20em 3R 25em T |
ﬁz) I X 39 < @ AR IRE Y sigad odw 2, e wiea ghal s
20 cm 3 25 em & |
313 11 : P.T.0.
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Study the given ray diagrams and select the correct statement from the

Tl ety A9 § NaOH =1 20% vt femm fies &, @ @ dau @

following :
v 7 - !

X (A)  Tazror =1 T TEU W E TR

@) e T iy gegeEe 8 W R

(©)  ofEE I STE T e g R

() i S TS 3 A TR
«—20cm Screen Screen ’ : . ;

25 cm——> While studying the saponification reaction, what do you observe when

(A)  Device X is a concave mirror and device Y is a convex lens, whose
focal lengths are 20 cm and 25 cm respectively.

(B} Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 10 cm and 25 cm respectively.

(C) Device X is a concave lens and device Y is a convex mirror, whose
focal lengths are 20 cm and 25 cm respectively.

(Dy” " Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 20 ¢cm and 25 cm respectively.

you mix an equal amount of colourless vegetable oil and 20% aqueous
solution of NaOH in a beaker ?

(A) The colour of the mixture has become dark brown
(B) A brisk cffervescence is taking place in the beaker
(C)  The outer surface of the beaker has become hot
(D)  The outer surface of the beaker has become cold

T AN U T i aeEe # gl we 3an wlifes sva A

30.
28, F1 o Ioe o g0 fed grea e w1 e sRifieE TR w S w @ ) Fo oo &, o Pt & - e @ € 2 g
72 7 e gfifars w0 & fore 38 gdvr 1 fagemn g . A) w18 e 7E B
W wea ' B e i A e e e F W R
o Eﬁiﬁﬁmfﬁaﬁmﬂqﬁﬁmq% il o il
(D) A4 9@ H AR A TG VG, T v Al Fafr w ok w2 - wﬁqaﬂtﬂua?ﬁa%gslgsiiﬁrm .
When you add a few drops of acetic acid to a test-tube containing sodium
A student obtains a blurred image of a distant object on a screen using a ‘bicarbonate powder, which one of the following is your observation ?
;:::::ex lens. To obtain a distinct image on I:he screen he should move the A) .No. reaction takes place
(&) , away from the screen ®) :ﬁ' ﬁ::;ls:: gas with pu.u_gent smell is released with brisk
towards the screen ©) is
(C)  to a position very far away from the screen - i Abmwn g . s, br'isk oyl
(D) eiL}p'r Lowards or away from the screen depending: upon the i | FommBoninEimbblon °f“ GolbiyElne s i periome R
position of the object :
- ” 33 13 _ P.T.O.-
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31 et o A T D § i wq % frg sk v ARG S SEAE B e R o

& & 1 sueed A} | SERen § v o@vl §, 5 emga w@ A 2o wsd ’ : : WM%

FIR e 7 T € | wav % Frefafea qygl § @ 98 a4 g e i 31T, AT, gedl, 4, =5,

TEY Bl YA T F G A W I BSR T 9 27 | ' 1 T} R 1 it s el w0 e et # 2 1
) wifsas weige, MRftEm T (A) TR 3R Tt

(B) ﬁTFS'ﬂ“ H?'E, tﬁéﬁTﬂﬂ m . 2 B) msﬂ.{ S

(C) Hifeqn aee, Sfoman gtz . © i s

(D) Hfeogm wete, Hogan s ' ; e

A student requires hard water for an experiment in his laboratory which i R -

is not ava.tlab](_: in the neighbouring area. In the laboratory there are The following vegetables are kept in a basket ¢

me“?:zii- ;;1:;: fwhen ﬂ;ﬁsfsr;lveq in distilled water can convert it into Potato, Tomato, Radish, Brinjal, Carrot, Bottle-gourd

which whien dissifood i diitﬁzi‘iiw&l?ﬂ‘iﬁsnﬁili‘f L Rl ok Which two of these vegetables correctly represcnt the homologous
(A)  Sodium chloride, Potassium chloride structures ? '
(B)  Sodium sulphate, Potassium sulphate ' - (A)  Carrot and Tomato

(B) Potato and Brinjal

(C)  Sedium sulphate, Calcium sulphate . . :

(D) Caleium sulphate, Calcium chloride Radish and Carrot

(D) Radish and Bottle-gourd

7 el 4t % s % fufim wril @1 vgaE W wm w0 ¥ R wdsm -
mmmmmlmwﬁﬁﬁmmgﬁq; ?/ rfien # s i wfmn it (I =il g R ST vt STy | 2
T, T, T, 0, St greef 1 Draw in sequence (showing the four stages), the process of binary fission

= in Amoeba. .
(A) 7T, 91 3 ey
(B) I, e 3R Frrpedt . yﬂimmcmﬁmq@@saﬁaﬁawmﬁnﬁﬁuﬁwzmqﬁm
(C) R, Ter 3 S _ Telt At it ST B W W B @ & | 39 e 98 s @
(D) =1, 7F S e i iRt &w 1 s Rewwmar ? ol & 9w 3% wRfre B W@ | SEka
:'jﬂ Pef‘fojn ﬁan experiment to identify the different paris of an embryo of a FATR | y #

cot seed, t of all i i : =
oty gm:ip:u all you require a dicot seed. Scloct dicot seeds from the (A) TR WSS EEE 59 F e 3% Su =) feg R § Rewsen
TR ?

Wheat, Gram, Maize, Peg, Barley, Ground-nut :
R, (B) qﬁmaﬁﬁﬁ %nﬁﬁm%wﬁww@m%?-
(B Gram, Peathind Giicidehut - (0 T WA SO % siifes A dwm (T9w) § 7 o R 2w g 2
(C)  Maize, Pea and Barley (D) S S S % FgA T (S 5 om gl W) B B, A R W
(D)  Gram, Maize and Ground-nut . g <an & 2 I
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A student focuses the image of a candle flame, placed at about 2m from a
convex lens of focal length 10 ¢m, on a screen. After that he moves
gradually the flame towards the lens and each time focuses its image on
the screen.

(A)  In which direction does he move the lens to focus the flame on f.hé
screen ? '

(B)  What happens to the size of the image of the flame formed on
screen 7 ;

(C) What difference is seen in the intensity (brightness) of the image of
the flame on the screen ?

(D} What is seen on the screen when the flame is very close (at about
5 cm) to the lens 7

PARA] H A4 #4E & fau dEws gl (eafs gedl) &1 o3ga
#ifam | wrE sfufen & afaten faan 6 sl (swedaarda) 5
foraffra w3 aren e w6 THr H01 2 Ha9 7 quie hif |

Mention the essential material (chemicals) to prepare scap In the

laboratory. Describe in brief the test of determining the nature
(acidic/alkaline) of the reaction mixture of saponification reaction.

16
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Candidates must write the Code on the
1 title page of the answer-book.
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Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 36 questions.

Please write down the Serial Number of the question before
attempting it. ;

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period. - ¢
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